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SAT = Safistiobili,:  [Cook 19715 Levin 1973]
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CNF SAT: foemuda = AND of clauses [Cook 197]
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3SAT  clause = OR o 3 Qiferals  [Gook 1971]
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ASAT:  clause .:/ R of 3 Qﬂ‘emﬁs
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A/lax RSATf Se'f \Iomabaes o moxinize H fue (;Qausas
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Horn SAT: each clouse has <1 positive Literdl
NOT X &R NOT y oR NOoT 2 OR W
NoT (x AND Y AND 2) w

(x AND y AND 2) D W [Hom qu?-l]
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Dual-Hovn SAT: ecach clouse has <1 V@an‘ive (ifersd

5 "weaklly posifive satistrabilty” [Schaefer 1978]
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DNF SAT: foemuda = or  of cfauses
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Nl e = satistioble « 21 clouse
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AMecnative caauses o DSAT

1-in-3SAT = QXOLC"‘&-":L ISAT [Schaefer 19(723]
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—clouse = O, 2, or 3 yariables are true
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NAE 3SAT = wnf-ofl-equal 3SAT  [Schoefer 1978
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& otheruise, SAT s NP-complete.!

Ansther hovd version o SAT — sofdon used?
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P\.(S_lg"%: reo@ucjtz‘cn 'F‘;‘G?u 38!\7- [HORK\W\QMH QGOOJ
— variable:  pusl ght™ 1w % or X; ow
— ﬁﬂ in row of connection godlc?e'/
— Comec‘fm" 1 \%e cefl pev occurvence of ,@femﬂ
—lorfoege" meve  up & block oft” fetfupnd path
— clause: need o e spit befou to traverse

PushPush-1 1 3D:  veduction rom ISAT
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(Fush)Push-1 Gn AD):  veduchion from SSAT
[Demmhe, Demoine, O'Rourke QOOO]

— clause 3(1(%91' . block other, Qock 3@%@1‘
— XOR crossover : N=2S xor W-=2E

—unidiv: crossover: eptional AJ>S. then W—E
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